JS≣

Johannesburg Stock Exchange

One Exchange Square, Gwen Lane, Sandown, South Africa Private Bag X991174 Sandton 2146

Tel: +27 11 520 7000 Fax: +27 11 520 8584

www.jse.co.za

Registration number: 2005/022939/06 VAT number: 4080119391

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
8:33:41	\$ / R 19/03/2018	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.8155		(69,077.50) Member	Sell
8:33:43	\$ / R 19/03/2018	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.8155		69,077.50 Client	Buy
8:33:43	\$ / R 19/03/2018	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.8155		(69,077.50) Member	Sell
8:42:45	\$ / R 19/03/2018	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.7570		68,785.00 Client	Buy
8:42:45	\$ / R 19/03/2018	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.7570		(68,785.00) Member	Sell
8:43:38	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	2,000	2,000,000	13.4210		26,842,000.00 Member	Buy
8:48:16	\$ / R 19/03/2018	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.8155		69,077.50 Client	Buy
8:55:53	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	10,000	10,000,000	13.3575		(133,575,000.00) Member	Sell
8:58:28	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	2,500	2,500,000	13.3725		(33,431,250.00) Member	Sell
8:58:28	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	15	15,000	13.3680		(200,520.00) Member	Sell
8:58:28	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	500	500,000	13.3525		(6,676,250.00) Member	Sell
8:58:28	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	500	500,000	13.3525		6,676,250.00 Client	Buy
8:58:28	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	15	15,000	13.3680		200,520.00 Client	Buy
8:58:28	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	2,500	2,500,000	13.3725		33,431,250.00 Client	Buy
9:00:15	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	25	25,000	13.3647		(334,117.50) Member	Sell
9:00:51	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.3697		(66,848.50) Member	Sell
9:01:04	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	25	25,000	13.3697		(334,242.50) Member	Sell
9:01:22	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	6,700	6,700,000	13.3575		89,495,250.00 Client	Buy

CURRENCY DERIVATIVES

CURRENCY FUTURES AND OPTIONS MATCHED TRADES

REPORT FOR 13/07/2017

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
9:01:22	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	1,400	1,400,000	13.3575		18,700,500.00 Client	Buy
9:01:22	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	1,900	1,900,000	13.3575		25,379,250.00 Client	Buy
9:01:22	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	50	50,000	13.3704		(668,520.00) Member	Sell
9:01:53	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	10,000	10,000,000	13.3585		133,585,000.00 Member	Buy
9:02:53	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	100	100,000	13.3704		(1,337,040.00) Member	Sell
9:04:03	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	6,700	6,700,000	13.3585		(89,501,950.00) Client	Sell
9:04:03	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	1,400	1,400,000	13.3585		(18,701,900.00) Client	Sell
9:04:03	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	1,900	1,900,000	13.3585		(25,381,150.00) Client	Sell
9:05:44	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	50	50,000	13.3760		(668,800.00) Member	Sell
9:06:27	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	200	200,000	13.3729		(2,674,580.00) Member	Sell
9:06:53	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.3661		66,830.50 Member	Buy
9:06:53	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.3661		(66,830.50) Client	Sell
9:08:52	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.3859		(66,929.50) Member	Sell
9:08:52	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.3859		66,929.50 Client	Buy
9:10:14	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.3800		(66,900.00) Member	Sell
9:10:14	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.3800		66,900.00 Client	Buy
9:14:47	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.3531		(66,765.50) Member	Sell
9:14:47	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.3531		66,765.50 Client	Buy
9:14:47	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.3487		(66,743.50) Member	Sell
9:18:16	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.3487		66,743.50 Client	Buy
9:18:36	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.3423		66,711.50 Member	Buy
9:22:22	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.3736		66,868.00 Client	Buy
9:22:22	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.3736		(66,868.00) Member	Sell
9:22:22	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.3680		66,840.00 Member	Buy
9:22:26	\$ / R 18/09/2017		0.00	1	1,000	5	5,000	13.3680			
9:22:20	\$ / R 31/08/2017	Foreign Exchange Future	0.00	1	1,000	310	310,000	13.3262		(66,840.00) Client (4,131,122.00) Member	Sell Sell
9:22:50	\$ / R 18/09/2017	Any day expiry		1		200	200,000	13.3710		2,674,200.00 Member	
9:29:21 9:29:21	\$ / R 18/09/2017	Foreign Exchange Future	0.00 0.00	1	1,000 1,000	35	35,000	13.3818		(468,363.00) Member	Buy Sell
		Foreign Exchange Future		1		35					
9:29:21	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	35	35,000	13.3818		468,363.00 Client	Buy
9:41:33	\$ / R 18/09/2017 \$ / R 18/00/2017	Foreign Exchange Future	0.00	1	1,000	o 8	8,000	13.3777 13.3777		107,021.60 Client	Buy
9:41:33	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000		8,000			(107,021.60) Member	Sell
9:48:59	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	50 105	50,000	13.3757		668,785.00 Member	Buy
9:49:45	\$ / R 19/03/2018	Foreign Exchange Future	0.00	-	1,000	105	105,000	13.7881		(1,447,750.50) Member	Sell
9:52:03	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.3905		(66,952.50) Member	Sell
9:52:03	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.3905		66,952.50 Client	Buy
9:59:02	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	200	200,000	13.3892		(2,677,840.00) Member	Sell
10:00:59	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	2	2,000	13.3949		26,789.80 Client	Buy
10:00:59	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	2	2,000	13.3949		(26,789.80) Member	Sell
10:03:29	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	10	10,000	13.3900		133,900.00 Client	Buy
10:03:29	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	10	10,000	13.3900		(133,900.00) Member	Sell
10:03:29	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	20	20,000	13.3900		267,800.00 Client	Buy
10:03:29	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	20	20,000	13.3900		(267,800.00) Member	Sell
10:10:11	\$ / R 19/03/2018	Foreign Exchange Future	0.00	1	1,000	105	105,000	13.7860		(1,447,530.00) Member	Sell

Matched Time	Contract Details	Product	Call/ Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
											.,,,,	
10:11:57	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	200	200,000	13.3660		(2,673,200.00) Client	Sell
10:11:57	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	200	200,000	13.3660		2,673,200.00 Member	Buy
10:12:16	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	2	2,000	13.3763		(26,752.60) Client	Sell
10:12:16	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	2	2,000	13.3763		26,752.60 Member	Buy
10:12:26	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	10	10,000	13.3782		133,782.00 Member	Buy
10:15:01	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	50	50,000	13.3615		668,075.00 Member	Buy
10:15:01	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	50	50,000	13.3615		(668,075.00) Client	Sell
10:15:57	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	500	500,000	13.3748		(6,687,400.00) Member	Sell
10:15:57	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	500	500,000	13.3748		6,687,400.00 Member	Buy
0:17:35	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	767	767,000	13.3863		(10,267,292.10) Member	Sell
10:18:03	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	10	10,000	13.3796		(133,796.00) Member	Sell
10:18:06	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	10	10,000	13.3796		(133,796.00) Member	Sell
0:28:43	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	200	200,000	13.6210		(2,724,200.00) Member	Sell
10:28:43	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	200	200,000	13.6210		2,724,200.00 Client	Buy
0:29:38	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	179	179,000	13.3605		2,391,529.50 Member	Buy
0:29:38	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	179	179,000	13.3605		(2,391,529.50) Client	Sell
0:30:13	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	1,000	1,000,000	13.3875		(13,387,500.00) Member	Sell
0:33:14	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	500	500,000	13.3576		(6,678,800.00) Member	Sell
0:33:14	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	500	500,000	13.3576		6,678,800.00 Member	Buy
0:33:18	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	18	18,000	13.3571		240,427.80 Member	Buy
0:33:18	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	18	18,000	13.3571		(240,427.80) Client	Sell
0:37:35	\$ / R 19/03/2018	Foreign Exchange Future		0.00	1	1,000	210	210,000	13.7637		(2,890,377.00) Member	Sell
0:38:50	\$ / R 19/03/2018	Foreign Exchange Future		0.00	1	1,000	36	36,000	13.7600		495,360.00 Client	Buy
0:38:50	\$ / R 19/03/2018	Foreign Exchange Future		0.00	1	1,000	36	36,000	13.7600		(495,360.00) Member	Sell
0:39:02	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	400	400,000	13.3863		5,354,520.00 Client	Buy
0:39:02	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	367	367,000	13.3863		4,912,772.10 Client	Buy
0:42:11	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	5	5,000	13.3557		66,778.50 Client	Buy
0:42:11	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	5	5,000	13.3557		(66,778.50) Member	Sell
0:43:20	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	5	5,000	13.3561		(66,780.50) Member	Sell
0:43:34	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	5	5,000	13.3561		66,780.50 Client	Buy
0:43:55	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	1,000	1,000,000	13.3460		13,346,000.00 Member	Buy
0:44:24	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	5	5,000	13.3550		66,775.00 Client	Buy
0:44:24	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	5	5,000	13.3550		(66,775.00) Member	Sell
0:45:16	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	30	30,000	13.3431		(400,293.00) Client	Sell
0:45:16	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	30	30,000	13.3431		400,293.00 Member	Buy
0:45:30	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	100	100,000	13.3434		(1,334,340.00) Client	Sell
0:45:30	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	100	100,000	13.3434		1,334,340.00 Member	Buy
0:49:15	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	300	300,000	13.3375		4,001,250.00 Member	Buy
0:49:15	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	300	300,000	13.3375		(4,001,250.00) Member	Sell
0:56:23	\$ / R 18/09/2017	Foreign Exchange Future	С	14.25	1	1,000	150	150,000	139.2000		(4,001,230.00) Member	Sell
	\$ / R 18/09/2017	Foreign Exchange Future	P	14.25	1	1,000	150	150,000	61.0000		9,150,000.00 Member	Buy
10:56:23			Г		1							
11:01:05	\$ / R 19/03/2018	Foreign Exchange Future		0.00	1	1,000	105	105,000	13.7311		(1,441,765.50) Member	Sell

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
										.,,-	
11:01:14	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	25	25,000	13.3310		333,275.00 Client	Buy
11:01:14	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	100	100,000	13.3257		(1,332,570.00) Client	Sell
11:01:15	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.3300		66,650.00 Client	Buy
1:01:15	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.3300		(66,650.00) Member	Sell
11:01:15	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.3250		(66,625.00) Member	Sell
1:01:15	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.3250		66,625.00 Client	Buy
1:01:29	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	75	75,000	13.3240		999,300.00 Member	Buy
1:01:34	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	50	50,000	13.3237		(666,185.00) Client	Sell
1:01:34	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	50	50,000	13.3237		666,185.00 Member	Buy
1:02:34	\$ / R 18/12/2017	Foreign Exchange Future	0.00	1	1,000	105	105,000	13.5260		(1,420,230.00) Member	Sell
1:04:39	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	20	20,000	13.3238		266,476.00 Member	Buy
1:04:39	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	20	20,000	13.3238		(266,476.00) Client	Sell
1:12:42	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	250	250,000	13.3516		(3,337,900.00) Client	Sell
1:12:42	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	250	250,000	13.3516		3,337,900.00 Member	Buy
1:14:03	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	100	100,000	13.3250		(1,332,500.00) Member	Sell
1:14:03	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	100	100,000	13.3250		1,332,500.00 Client	Buy
1:15:08	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	100	100,000	13.3200		(1,332,000.00) Member	Sell
1:15:08	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	25	25,000	13.3200		(333,000.00) Member	Sell
1:18:14	\$ / R 18/12/2017	Foreign Exchange Future	0.00	1	1,000	105	105,000	13.5120		(1,418,760.00) Member	Sell
:18:52	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	250	250,000	13.3197		(3,329,925.00) Member	Sell
1:19:18	\$ / R 18/12/2017	Foreign Exchange Future	0.00	1	1,000	105	105,000	13.5123		(1,418,791.50) Member	Sell
1:19:49	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	7	7,000	13.3100		93,170.00 Client	Buy
1:19:49	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	7	7,000	13.3100		(93,170.00) Member	Sell
1:19:58	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	10	10,000	13.3050		(133,050.00) Client	Sell
1:21:49	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	2,000	2,000,000	13.3005		26,601,000.00 Member	Buy
1:23:09	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	40	40,000	13.3050		(532,200.00) Member	Sell
1:23:18	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	10	10,000	13.3359		133,359.00 Client	Buy
1:23:18	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.3020		(66,510.00) Member	Sell
1:23:27	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	100	100,000	13.3000		(1,330,000.00) Member	Sell
1:23:27	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	100	100,000	13.3000		1,330,000.00 Client	Buy
1:23:45	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	5,000	5,000,000	13.3215		(66,607,500.00) Member	Sell
1:23:45	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	5,000	5,000,000	13.3215		66,607,500.00 Client	Buy
1:23:56	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.3030		(66,515.00) Member	Sell
1:24:37	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	100	100,000	13.3004		(1,330,040.00) Member	Sell
1:24:41	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.3030		66,515.00 Client	Buy
1:24:41	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	20	20,000	13.3000		(266,000.00) Member	Sell
1:24:41	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	20	20,000	13.3000		266,000.00 Client	Buy
1:24:55	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	300	300,000	13.3003		(3,990,090.00) Member	Sell
1:25:04	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	25	25,000	13.3021		332,552.50 Client	Buy
1:25:04	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	25	25,000	13.3021		(332,552.50) Member	Sell
1:25:04	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	300	300,000	13.3021		(3,990,090.00) Member	Sell
1:25:17	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1		1,000	1,000,000	13.3003		13,300,900.00 Client	
1.20.17	ψ/ΙΝΙΟ/09/2017	Foreign Exchange Future	0.00	1	1,000 1,000	300	300,000	13.3009		13,300,800.00 Cilent	Buy Sell

Matched Time	Contract Details	Product	Call/ Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
											.,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	
11:28:11	\$ / R 18/12/2017	Foreign Exchange Future		0.00	1	1,000	105	105,000	13.5003		(1,417,531.50) Member	Sell
11:28:31	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	50	50,000	13.3013		(665,065.00) Member	Sell
11:28:31	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	50	50,000	13.3013		665,065.00 Client	Buy
11:29:32	\$ / R 18/12/2017	Foreign Exchange Future		0.00	1	1,000	105	105,000	13.5002		(1,417,521.00) Member	Sell
11:30:39	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	2,000	2,000,000	13.3462		26,692,400.00 Client	Buy
11:30:39	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	1,000	1,000,000	13.3049		(13,304,900.00) Member	Sell
11:31:57	\$ / R 19/03/2018	Foreign Exchange Future		0.00	1	1,000	25	25,000	13.6901		(342,252.50) Member	Sell
11:31:57	\$ / R 19/03/2018	Foreign Exchange Future		0.00	1	1,000	25	25,000	13.6901		342,252.50 Member	Buy
11:31:57	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	25	25,000	13.3033		332,582.50 Member	Buy
11:31:57	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	25	25,000	13.3033		(332,582.50) Member	Sell
11:34:25	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	6,870	6,870,000	13.3421		91,660,227.00 Member	Buy
11:34:38	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	20	20,000	13.3030		(266,060.00) Member	Sell
11:35:46	\$ / R 18/12/2017	Foreign Exchange Future		0.00	1	1,000	105	105,000	13.5010		(1,417,605.00) Member	Sell
11:35:46	\$ / R 18/12/2017	Foreign Exchange Future		0.00	1	1,000	630	630,000	13.5087		8,510,481.00 Client	Buy
11:36:45	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	2	2,000	13.3014		(26,602.80) Member	Sell
11:36:45	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	2	2,000	13.3014		26,602.80 Client	Buy
11:38:26	\$ / R 18/09/2017	Foreign Exchange Future	С	12.90	1	1,000	400	400,000	565.4000		(226,160,000.00) Client	Sell
11:38:26	\$ / R 18/09/2017	Foreign Exchange Future	С	12.90	1	1,000	400	400,000	565.4000		226,160,000.00 Member	Buy
11:38:37	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	20	20,000	13.2982		(265,964.00) Member	Sell
11:38:51	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	250	250,000	13.3167		3,329,175.00 Client	Buy
11:38:51	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	250	250,000	13.3167		(3,329,175.00) Member	Sell
11:39:24	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	5	5,000	13.3046		(66,523.00) Member	Sell
11:39:24	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	5	5,000	13.3046		66,523.00 Client	Buy
11:40:00	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	5	5,000	13.3052		66,526.00 Client	Buy
11:40:00	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	5	5,000	13.3052		(66,526.00) Member	Sell
11:40:01	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	20	20,000	13.3054		(266,108.00) Member	Sell
11:40:02	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	20	20,000	13.3054		(266,108.00) Member	Sell
11:40:51	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	50	50,000	13.3088		(665,440.00) Member	Sell
11:40:51	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	50	50,000	13.3088		665,440.00 Client	Buy
11:51:41	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	100	100,000	13.3150		(1,331,500.00) Member	Sell
11:51:41	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	100	100,000	13.3150		1,331,500.00 Client	Buy
11:53:09	\$ / R 31/08/2017	Any day expiry		0.00	1	1,000	310	310,000	13.3262		4,131,122.00 Client	Buy
11:55:00	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	10	10,000	13.3050		133,050.00 Client	Buy
11:55:08	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	40	40,000	13.3050		532,200.00 Client	Buy
11:59:45	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	500	500,000	13.3134		6,656,700.00 Member	Buy
11:59:45	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	500	500,000	13.3134		(6,656,700.00) Member	Sell
12:03:41	\$ / R 18/09/2017	Foreign Exchange Future	Р	12.50	1	1,000	100	100,000	61.0000		(6,100,000.00) Client	Sell
12:03:54	\$ / R 18/09/2017	Foreign Exchange Future	P	12.50	1	1,000	50	50,000	61.0000		(3,050,000.00) Client	Sell
12:04:18	\$ / R 18/09/2017	Foreign Exchange Future	C	14.25	1	1,000	50	50,000	139.2000		6,960,000.00 Client	Buy
12:04:18	\$ / R 18/09/2017	Foreign Exchange Future	C	14.25	1	1,000	100	100,000	139.2000		13,920,000.00 Client	Buy
12:17:09	\$ / R 18/12/2017	Foreign Exchange Future	0	0.00	1	1,000	3	3,000	13.5019		40,505.70 Member	Buy
12:17:09	\$ / R 18/12/2017	Foreign Exchange Future		0.00	1	1,000	3	3,000	13.5019		(40,505.70) Client	Sell
12:26:10	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	6,870	6,870,000	13.3421		(91,660,227.00) Client	Sell

Matched Time	Contract Details	Product	Call/ Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
			i ut		Inddeb	Value		Nomina	11100	Nuto	1360	
12:27:51	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	1,000	1,000,000	13.3162		13,316,200.00 Client	Buy
12:27:51	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	1,000	1,000,000	13.3162		(13,316,200.00) Member	Sell
12:29:41	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	5	5,000	13.3547		66,773.50 Client	Buy
12:29:41	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	5	5,000	13.3547		(66,773.50) Member	Sell
12:32:12	\$ / R 18/09/2017	Foreign Exchange Future	С	13.65	1	1,000	1,000	1,000,000	250.9900		250,990,000.00 Member	Buy
12:32:12	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	316	316,000	13.3261		(4,211,047.60) Member	Sell
12:32:12	\$ / R 18/09/2017	Foreign Exchange Future	С	13.65	1	1,000	1,000	1,000,000	250.9900		(250,990,000.00) Client	Sell
12:34:41	\$ / R 18/12/2017	Foreign Exchange Future	Р	13.40	1	1,000	149	149,000	470.7961		70,148,618.90 Client	Buy
12:34:41	\$ / R 18/12/2017	Foreign Exchange Future	С	16.00	1	1,000	149	149,000	122.5242		(18,256,105.80) Client	Sell
12:34:41	\$ / R 18/12/2017	Foreign Exchange Future	Р	12.40	1	1,000	149	149,000	109.7698		(16,355,700.20) Client	Sell
12:34:41	\$ / R 18/12/2017	Foreign Exchange Future	Р	13.40	1	1,000	149	149,000	470.7961		(70,148,618.90) Client	Sell
12:34:41	\$ / R 18/12/2017	Foreign Exchange Future	Р	12.40	1	1,000	149	149,000	109.7698		16,355,700.20 Client	Buy
12:34:41	\$ / R 18/12/2017	Foreign Exchange Future	С	16.00	1	1,000	149	149,000	122.5242		18,256,105.80 Client	Buy
12:39:52	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	500	500,000	13.3359		6,667,950.00 Member	Buy
12:39:52	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	500	500,000	13.3359		(6,667,950.00) Member	Sell
12:45:18	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	50	50,000	13.3300		666,500.00 Client	Buy
12:45:18	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	50	50,000	13.3300		(666,500.00) Member	Sell
12:59:01	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	11	11,000	13.3335		146,668.50 Member	Buy
12:59:01	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	39	39,000	13.3331		519,990.90 Member	Buy
12:59:19	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	50	50,000	13.3242		666,210.00 Member	Buy
12:59:30	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	20	20,000	13.3227		266,454.00 Member	Buy
12:59:46	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	50	50,000	13.3174		665,870.00 Member	Buy
13:07:14	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	556	556,000	13.3261		7,409,311.60 Client	Buy
13:07:14	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	240	240,000	13.3260		(3,198,240.00) Member	Sell
13:14:03	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	25	25,000	13.3304		(333,260.00) Member	Sell
13:14:03	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	25	25,000	13.3304		333,260.00 Client	Buy
13:17:45	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	25	25,000	13.3522		(333,805.00) Member	Sell
13:17:45	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	25	25,000	13.3522		333,805.00 Client	Buy
13:19:40	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	50	50,000	13.3512		(667,560.00) Member	Sell
13:19:40	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	50	50,000	13.3512		667,560.00 Client	Buy
13:22:44	\$ / R 18/09/2017	Foreign Exchange Future	С	13.40	1	1,000	500	500,000	335.2600		(167,630,000.00) Client	Sell
13:22:44	\$ / R 18/09/2017	Foreign Exchange Future	С	13.40	1	1,000	500	500,000	335.2600		167,630,000.00 Member	Buy
13:24:29	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	50	50,000	13.3440		(667,200.00) Member	Sell
13:24:30	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	50	50,000	13.3445		(667,225.00) Member	Sell
13:33:59	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	300	300,000	13.3249		3,997,470.00 Member	Buy
13:33:59	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	300	300,000	13.3249		(3,997,470.00) Member	Sell
13:40:25	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	3,000	3,000,000	13.3565		(40,069,500.00) Member	Sell
13:42:32	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	20,000	20,000,000	13.3468		266,936,000.00 Client	Buy
13:42:32	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	20,000	20,000,000	13.3468		(266,936,000.00) Member	Sell
13:50:50	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	20	20,000	13.3501		267,002.00 Member	Buy
14:23:05	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	180	180,000	13.3877		(2,409,786.00) Member	Sell
14:23:05	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	180	180,000	13.3877		2,409,786.00 Member	Buy
14:25:08	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	5	5,000	13.3810		66,905.00 Member	Buy

Matched Time	Contract Details	Product	Call/ Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
			Tut		naues	Value		Nomman	11100	Nate	Type	Cen
14:25:08	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	5	5,000	13.3810		(66,905.00) Client	Sell
14:29:08	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	25	25,000	13.3814		334,535.00 Member	Buy
14:31:04	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	50	50,000	13.3739		668,695.00 Member	Buy
14:31:05	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	50	50,000	13.3739		668,695.00 Member	Buy
14:31:12	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	5	5,000	13.3724		66,862.00 Member	Buy
14:33:42	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	30	30,000	13.3719		401,157.00 Member	Buy
14:43:03	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	300	300,000	13.3451		(4,003,530.00) Member	Sell
14:43:03	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	300	300,000	13.3451		4,003,530.00 Member	Buy
14:56:13	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	20	20,000	13.3630		(267,260.00) Client	Sell
14:56:13	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	5	5,000	13.3534		66,767.00 Member	Buy
15:13:27	\$ / R 18/09/2017	Foreign Exchange Future	Р	13.20	1	1,000	1,000	1,000,000	297.1800		(297,180,000.00) Member	Sell
15:13:27	\$ / R 18/09/2017	Foreign Exchange Future	Р	12.75	1	1,000	1,000	1,000,000	114.9100		114,910,000.00 Member	Buy
15:13:27	\$ / R 18/09/2017	Foreign Exchange Future	С	13.90	1	1,000	1,000	1,000,000	182.2800		182,280,000.00 Member	Buy
15:13:27	\$ / R 18/09/2017	Foreign Exchange Future	Р	13.20	1	1,000	1,000	1,000,000	297.1800		297,180,000.00 Client	Buy
15:13:27	\$ / R 18/09/2017	Foreign Exchange Future	Р	12.75	1	1,000	1,000	1,000,000	114.9100		(114,910,000.00) Client	Sell
15:13:27	\$ / R 18/09/2017	Foreign Exchange Future	С	13.90	1	1,000	1,000	1,000,000	182.2800		(182,280,000.00) Client	Sell
15:17:33	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	10	10,000	13.3570		133,570.00 Client	Buy
15:17:33	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	10	10,000	13.3570		(133,570.00) Member	Sell
15:18:20	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	5	5,000	13.3655		66,827.50 Member	Buy
15:47:33	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	5	5,000	13.3691		66,845.50 Member	Buy
15:47:33	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	5	5,000	13.3691		(66,845.50) Client	Sell
15:53:36	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	17	17,000	13.3899		(227,628.30) Member	Sell
15:53:36	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	17	17,000	13.3899		227,628.30 Client	Buy
15:56:36	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	10	10,000	13.3910		(133,910.00) Member	Sell
15:56:36	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	10	10,000	13.3910		133,910.00 Client	Buy
15:58:47	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	50	50,000	13.3898		669,490.00 Member	Buy
15:58:47	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	50	50,000	13.3898		(669,490.00) Client	Sell
15:59:05	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	500	500,000	13.3934		(6,696,700.00) Member	Sell
15:59:05	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	500	500,000	13.3934		6,696,700.00 Member	Buy
16:00:07	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	1	1,000	13.3908		13,390.80 Member	Buy
16:00:07	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	1	1,000	13.3908		(13,390.80) Client	Sell
16:03:32	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	30	30,000	13.3981		(401,943.00) Member	Sell
16:03:45	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	10	10,000	13.3506		133,506.00 Client	Buy
16:05:28	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	2	2,000	13.4000		(26,800.00) Client	Sell
16:05:28	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	2	2,000	13.4000		26,800.00 Member	Buy
16:06:28	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	500	500,000	13.4052		6,702,600.00 Member	Buy
16:06:28	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	500	500,000	13.4052		(6,702,600.00) Member	Sell
16:07:06	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	2	2,000	13.4000		26,800.00 Client	Buy
16:07:06	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	2	2,000	13.4000		(26,800.00) Member	Sell
16:08:50	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	1,500	1,500,000	13.2785		(19,917,750.00) Client	Sell
16:08:50	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	1,500	1,500,000	13.1475		19,721,250.00 Client	Buy
16:08:50	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	1,500	1,500,000	13.1475		19,917,750.00 Member	Buy
10.00.00	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1	1,000	1,500	1,500,000	13.1475		(19,721,250.00) Member	Sell

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
					Fuide					1360	501
16:11:34	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	20	20,000	13.3943		267,886.00 Member	Buy
16:12:54	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	1	1,000	13.3999		(13,399.90) Member	Sell
16:12:54	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	1	1,000	13.3999		13,399.90 Client	Buy
16:14:25	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	1	1,000	13.4071		(13,407.10) Client	Sell
16:14:25	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	1	1,000	13.4071		13,407.10 Member	Buy
16:17:53	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	400	400,000	13.4211		(5,368,440.00) Member	Sell
16:17:53	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	400	400,000	13.4211		5,368,440.00 Member	Buy
16:19:14	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	2	2,000	13.4139		(26,827.80) Client	Sell
16:19:14	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	2	2,000	13.4139		26,827.80 Member	Buy
16:22:28	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	2,448	2,448,000	13.3066		(32,574,556.80) Member	Sell
16:22:28	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	1,036	1,036,000	13.3066		(13,785,637.60) Member	Sell
16:22:28	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	1,799	1,799,000	13.3066		(23,938,573.40) Member	Sell
6:22:28	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	970	970,000	13.3066		(12,907,402.00) Member	Sell
16:22:28	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	1,000	1,000,000	13.3066		(13,306,600.00) Member	Sell
16:22:28	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	2,000	2,000,000	13.3066		(26,613,200.00) Member	Sell
6:22:28	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	2,000	2,000,000	13.3066		26,613,200.00 Client	Buy
6:22:28	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	747	747,000	13.3066		(9,940,030.20) Member	Sell
6:22:28	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	970	970,000	13.3066		12,907,402.00 Client	Buy
6:22:28	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	2,448	2,448,000	13.3066		32,574,556.80 Client	Buy
6:22:28	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	1,799	1,799,000	13.3066		23,938,573.40 Client	Buy
6:22:28	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	747	747,000	13.3066		9,940,030.20 Client	Buy
6:22:28	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	1,036	1,036,000	13.3066		13,785,637.60 Client	Buy
6:22:28	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	1,000	1,000,000	13.3066		13,306,600.00 Client	Buy
6:22:47	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	1,000	1,000,000	13.4041		(13,404,100.00) Client	Sell
6:22:47	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	1,000	1,000,000	13.4041		13,404,100.00 Member	Buy
6:25:08	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	2	2,000	13.4139		(26,827.80) Member	Sell
6:25:08	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	2	2,000	13.4139		26,827.80 Client	Buy
6:25:47	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	6	6,000	13.4129		(80,477.40) Member	Sell
6:25:47	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	6	6,000	13.4129		80,477.40 Client	Buy
6:26:16	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	300	300,000	13.4109		4,023,270.00 Member	Buy
6:26:16	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	300	300,000	13.4109		(4,023,270.00) Client	Sell
6:30:46	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	10	10,000	13.4018		(134,018.00) Client	Sell
6:30:46	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	10	10,000	13.4018		134,018.00 Member	Buy
6:33:52	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	200	200,000	13.4161		(2,683,220.00) Member	Sell
6:35:32	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	200	200,000	13.4200		2,684,000.00 Client	Buy
6:35:32	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	200	200,000	13.4200		(2,684,000.00) Member	Sell
6:37:44	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	3,000	3,000,000	13.3565		(40,069,500.00) Member	Sell
6:40:57	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.4080		(67,040.00) Client	Sell
6:40:57	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.4080		(67,040.00) Member	Sell
6:40:57	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	10	10,000	13.4080		134,080.00 Client	Buy
6:46:21	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	30	30,000	13.4112		(402,336.00) Member	Sell
6:46:21	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	30	30,000	13.4112		402,336.00 Member	Buy
16:49:45	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	2	2,000	13.4112		26,836.60 Member	Buy

Matched Time	Contract Details	Product	Call/ Strik Put	a Noo Trada	, ,	Quantity	Foreign Nominal	Traded Price	Spot Premium Value Trade Rate Type	Buy/ Sell
16:49:45	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1 1,000	2	2,000	13.4183	(26,836.60) Member	Sell
16:52:49	\$ / R 18/09/2017	Foreign Exchange Future		0.00	1 1,000	150	150,000	13.3712	2,005,680.00 Client	Buy
16:54:18	\$ / R 18/09/2017	Foreign Exchange Future			1 1,000	7	7,000	13.4223	(93,956.10) Member	Sell
16:54:18	\$ / R 18/09/2017	Foreign Exchange Future			1 1,000	7	7,000	13.4223	93,956.10 Client	Buy
16:54:32	\$ / R 18/09/2017	Foreign Exchange Future			1 1,000	220	220,000	13.3395	2,934,690.00 Client	Buy
17:07:28	\$ / R 18/09/2017	Foreign Exchange Future			1 1,000	150	150,000	13.4058	2,010,870.00 Member	Buy
17:07:28	\$ / R 18/09/2017	Foreign Exchange Future			1 1,000	150	150,000	13.4058	(2,010,870.00) Client	Sell
17:08:01	\$ / R 18/09/2017	Foreign Exchange Future			1 1,000	300	300,000	13.3771	(4,013,130.00) Member	Sell
17:08:01	\$ / R 18/09/2017	Foreign Exchange Future			1 1,000	300	300,000	13.3771	4,013,130.00 Client	Buy
17:08:17	\$ / R 18/09/2017	Foreign Exchange Future			1 1,000	100	100,000	13.3250	(1,332,500.00) Member	Sell
17:10:50	\$ / R 18/09/2017	Foreign Exchange Future			1 1,000	69	69,000	13.4113	925,379.70 Member	Buy
17:14:21	\$ / R 18/09/2017	Foreign Exchange Future			1 1,000	20	20,000	13.3250	266,500.00 Client	Buy
17:14:21	\$ / R 18/09/2017	Foreign Exchange Future			1 1,000	10	10,000	13.3250	133,250.00 Client	Buy
17:14:21	\$ / R 18/09/2017	Foreign Exchange Future			1 1,000	40	40,000	13.3250	533,000.00 Client	Buy
17:14:21	\$ / R 18/09/2017	Foreign Exchange Future			1 1,000	30	30,000	13.3250	399,750.00 Client	Buy
17:17:50	\$ / R 18/09/2017	Foreign Exchange Future			1 1,000	2	2,000	13.4113	(26,822.60) Client	Sell
17:17:51	\$ / R 18/09/2017	Foreign Exchange Future			1 1,000	9	9,000	13.4113	(120,701.70) Client	Sell
17:17:51	\$ / R 18/09/2017	Foreign Exchange Future			1 1,000	3 13	13,000	13.4113	(174,346.90) Client	Sell
17:17:51	\$ / R 18/09/2017	Foreign Exchange Future			1 1,000	32	32,000	13.4113	(429,161.60) Client	Sell
17:17:51	\$ / R 18/09/2017				1 1,000	13	13,000	13.4113		Sell
17:33:30	\$ / R 18/09/2017	Foreign Exchange Future			1 1,000	25	25,000	13.4113	(174,346.90) Client 333,000.00 Client	
		Foreign Exchange Future						13.3200		Buy
Total Futu	ires			15	8	90,585	90,584,500		1 208 933 581.70	
Total Opti	ons			1	2	5,647	5,647,000		0.00	
Total for \$	/ R Foreign Exchange	Future		17	D	96,232	96,231,500		2,582,874,006.60	
16:46:32	\$ / R MAXI 18/09/2017	Foreign Exchange Future		0.00	1 100,000	2	200,000	13.4093	(2,681,860.00) Member	Sell
16:46:32	\$ / R MAXI 18/09/2017	Foreign Exchange Future		0.00	1 100,000	2	200,000	13.4093	2,681,860.00 Member	Buy
Total Futu	ires				1	2	200,000		2 681 860.00	
Total Opti	ons									
Total for \$	/ R MAXI Foreign Excl	hange Future			1	2	200,000		2,681,860.00	
9:16:04	£/R 18/09/2017	Foreign Exchange Future		0.00	1 1,000	100	100,000	17.3145	(1,731,450.00) Client	Sell
9:16:04	£ / R 18/09/2017	Foreign Exchange Future		0.00	1 1,000	100	100,000	17.3145	1,731,450.00 Member	Buy
10:26:03	£ / R 18/09/2017	Foreign Exchange Future			1 1,000	1	1,000	17.3415	17,341.50 Client	Buy
10:26:03	£ / R 18/09/2017	Foreign Exchange Future			1 1,000	1	1,000	17.3415	(17,341.50) Member	Sell
	£ / R 18/09/2017	Foreign Exchange Future			1 1,000	12	12,000	17.2800	207,360.00 Client	Buy
10:50:25		J . J			1 1,000	12	12,000	17.2800	(207,360.00) Member	Sell
10:50:25		Foreign Exchange Future		0.00	1.000		, -			-
10:50:25 10:50:25	£ / R 18/09/2017	Foreign Exchange Future Foreign Exchange Future			,		100.000	17.2330	1.723.300.00 Client	Buv
10:50:25 10:50:25 11:37:51	£ / R 18/09/2017 £ / R 18/09/2017	Foreign Exchange Future		0.00	1 1,000	100	100,000 100.000	17.2330 17.2330	1,723,300.00 Client (1,723,300.00) Member	Buy Sell
10:50:25 10:50:25	£ / R 18/09/2017			0.00 0.00	,		100,000 100,000 500,000	17.2330 17.2330 170.2000	1,723,300.00 Client (1,723,300.00) Member 85,100,000.00 Client	Buy Sell Buy

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
12:29:37	£ / R 18/09/2017	Foreign Exchange Future	0.	00 1	1,000	3	3,000	17.2971		51,891.30 Client	Buy
12:29:37	£ / R 18/09/2017	Foreign Exchange Future	0.		1,000	3	3,000	17.2971		(51,891.30) Member	Sell
12:55:03	£ / R 18/09/2017	Foreign Exchange Future	0.	00 1	1,000	500	500,000	17.2664		8,633,200.00 Member	Buy
12:55:03	£ / R 18/09/2017	Foreign Exchange Future	0.		1,000	500	500,000	17.2664		(8,633,200.00) Member	Sell
12:55:08	£ / R 18/09/2017	Foreign Exchange Future	0.		1,000	250	250,000	17.2658		4,316,450.00 Member	Buy
12:55:08	£ / R 18/09/2017	Foreign Exchange Future	0.	00 1	1,000	250	250,000	17.2658		(4,316,450.00) Member	Sell
12:55:08	£ / R 18/09/2017	Foreign Exchange Future	0.		1,000	250	250,000	17.2616		4,315,400.00 Member	Buy
12:55:08	£/R 18/09/2017	Foreign Exchange Future	0.	00 1	1,000	250	250,000	17.2616		(4,315,400.00) Member	Sell
12:55:11	£/R 18/09/2017	Foreign Exchange Future	0.	00 1	1,000	250	250,000	17.2722		4,318,050.00 Member	Buy
12:55:11	£ / R 18/09/2017	Foreign Exchange Future	0.	00 1	1,000	250	250,000	17.2722		(4,318,050.00) Member	Sell
12:55:11	£/R 18/09/2017	Foreign Exchange Future	0.	00 1	1,000	250	250,000	17.2667		4,316,675.00 Member	Buy
12:55:11	£ / R 18/09/2017	Foreign Exchange Future	0.	00 1	1,000	250	250,000	17.2667		(4,316,675.00) Member	Sell
15:07:35	£ / R 18/09/2017	Foreign Exchange Future		00 1	1,000	331	331,000	17.3125		(5,730,437.50) Member	Sell
15:09:30	£ / R 18/09/2017	Foreign Exchange Future		00 1	1,000	331	331,000	17.3125		5,730,437.50 Client	Buy
16:20:00	£ / R 18/09/2017	Foreign Exchange Future		00 1	1,000	128	128,000	17.3748		(2,223,974.40) Member	Sell
16:21:10	£ / R 18/09/2017	Foreign Exchange Future	0.	00 1	1,000	3	3,000	17.3676		52,102.80 Member	Buy
16:21:10	£ / R 18/09/2017	Foreign Exchange Future	0.	00 1	1,000	3	3,000	17.3676		(52,102.80) Client	Sell
16:23:17	£ / R 18/09/2017	Foreign Exchange Future	0.	00 1	1,000	128	128,000	17.3748		2,223,974.40 Client	Buy
16:26:57	£ / R 18/09/2017	Foreign Exchange Future		00 1	1,000	10	10,000	17.3763		173,763.00 Client	Buy
16:26:57	£ / R 18/09/2017	Foreign Exchange Future	0.		1,000	10	10,000	17.3763		(173,763.00) Member	Sell
16:37:18	£ / R 18/09/2017	Foreign Exchange Future	0.		1,000	57	57,000	17.3601		989,525.70 Member	Buy
17:00:25	£ / R 18/09/2017	Foreign Exchange Future	0.		1,000	57	57,000	17.3601		(989,525.70) Client	Sell
Total Futu	ıres			15		2,245	2,245,000			38 800 921.20	
Total Opt	ions			1		500	500,000			0.00	
Total for f	C / R Foreign Exchang	e Future		16		2,745	2,745,000			123,900,921.20	
9:02:47	€ / R 18/09/2017	Foreign Exchange Future	0.	00 1	1,000	10	10,000	15.3500		153,500.00 Member	Buy
9:02:47	€/R 18/09/2017	Foreign Exchange Future	0.	00 1	1,000	10	10,000	15.3500		(153,500.00) Client	Sell
9:06:40	€/R 18/09/2017	Foreign Exchange Future	0.	00 1	1,000	5	5,000	15.3506		76,753.00 Member	Buy
9:06:40	€/R 18/09/2017	Foreign Exchange Future	0.	00 1	1,000	5	5,000	15.3506		(76,753.00) Client	Sell
10:22:32	€ / R 18/09/2017	Foreign Exchange Future	0.	00 1	1,000	8	8,000	15.3010		(122,408.00) Client	Sell
10:22:32	€ / R 18/09/2017	Foreign Exchange Future	0.	00 1	1,000	8	8,000	15.3010		122,408.00 Member	Buy
10:38:51	€ / R 18/12/2017	Foreign Exchange Future	0.	00 1	1,000	30	30,000	15.6091		468,273.00 Client	Buy
10:38:51	€/R 18/12/2017	Foreign Exchange Future	0.	00 1	1,000	30	30,000	15.6091		(468,273.00) Member	Sell
	€/R 18/12/2017	Foreign Exchange Future	0.	00 1	1,000	250	250,000	15.5589		(3,889,725.00) Member	Sell
			0	00 1	1,000	250	250,000	15.5589		3,889,725.00 Member	Buy
11:06:05	€ / R 18/12/2017	Foreign Exchange Future	0.				235,000	15.2145		3,575,407.50 Member	Buy
11:06:05 11:06:05 11:25:10		Foreign Exchange Future Foreign Exchange Future	0.	00 1	1,000	235	200,000	10.2110		3,373,407.30 Weitibei	Day
11:06:05 11:06:05	€ / R 18/12/2017	v v			1,000 1,000	235 15	15,000	15.2149		228,223.50 Member	Buy
11:06:05 11:06:05 11:25:10	€ / R 18/12/2017 € / R 18/09/2017	Foreign Exchange Future	0.	00 1							
11:06:05 11:06:05 11:25:10 11:25:22	€ / R 18/12/2017 € / R 18/09/2017 € / R 18/09/2017	Foreign Exchange Future Foreign Exchange Future	0. 0.	00 1 00 1	1,000	15	15,000	15.2149		228,223.50 Member	Buy
11:06:05 11:06:05 11:25:10 11:25:22 11:25:22	€ / R 18/12/2017 € / R 18/09/2017 € / R 18/09/2017 € / R 18/09/2017	Foreign Exchange Future Foreign Exchange Future Foreign Exchange Future	0. 0. 0.	00 1 00 1 00 1	1,000 1,000	15 250	15,000 250,000	15.2149 15.2145		228,223.50 Member (3,803,625.00) Client	Buy Sell

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
12:49:01	€ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	4	4,000	15.2311		(60,924.40) Member	Sell
12:49:01	€ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	4	4,000	15.2311		60,924.40 Client	Buy
12:54:02	€ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	235	235,000	15.2272		3,578,392.00 Member	Buy
12:54:13	€ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	82	82,000	15.2260		1,248,532.00 Member	Buy
12:57:52	€ / R 18/12/2017	Foreign Exchange Future	0.00	1	1,000	250	250,000	15.5379		3,884,475.00 Member	Buy
12:57:52	€ / R 18/12/2017	Foreign Exchange Future	0.00	1	1,000	171	171,000	15.5363		2,656,707.30 Member	Buy
12:57:52	€ / R 18/12/2017	Foreign Exchange Future	0.00	1	1,000	421	421,000	15.5372		(6,541,161.20) Member	Sell
12:58:43	€ / R 19/03/2018	Foreign Exchange Future	0.00	1	1,000	250	250,000	15.8427		3,960,675.00 Member	Buy
12:58:43	€ / R 18/12/2017	Foreign Exchange Future	0.00	1	1,000	250	250,000	15.5482		(3,887,050.00) Member	Sell
12:59:08	€ / R 19/03/2018	Foreign Exchange Future	0.00	1	1,000	171	171,000	15.8418		2,708,947.80 Member	Buy
12:59:08	€ / R 18/12/2017	Foreign Exchange Future	0.00	1	1,000	171	171,000	15.5471		(2,658,554.10) Member	Sell
12:59:08	€ / R 18/12/2017	Foreign Exchange Future	0.00	1	1,000	421	421,000	15.5478		6,545,623.80 Member	Buy
14:02:48	€ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	8	8,000	15.3232		(122,585.60) Member	Sell
14:02:48	€ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	8	8,000	15.3232		122,585.60 Client	Buy
14:11:05	€ / R 18/12/2017	Foreign Exchange Future	0.00	1	1,000	2	2,000	15.6141		(31,228.20) Client	Sell
14:11:05	€ / R 18/12/2017	Foreign Exchange Future	0.00	1	1,000	2	2,000	15.6141		31,228.20 Member	Buy
14:11:56	€ / R 18/12/2017	Foreign Exchange Future	0.00	1	1,000	2	2,000	15.6162		(31,232.40) Client	Sell
14:11:56	€ / R 18/12/2017	Foreign Exchange Future	0.00	1	1,000	2	2,000	15.6162		31,232.40 Member	Buy
14:26:25	€ / R 18/12/2017	Foreign Exchange Future	0.00	1	1,000	2	2,000	15.6311		31,262.20 Member	Buy
14:40:46	€ / R 18/12/2017	Foreign Exchange Future	0.00	1	1,000	3	3,000	15.6073		46,821.90 Member	Buy
15:06:55	€ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	228	228,000	15.2881		(3,485,686.80) Member	Sell
15:07:19	€ / R 18/12/2017	Foreign Exchange Future	0.00	1	1,000	2	2,000	15.5840		31,168.00 Member	Buy
15:07:23	€ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	103	103,000	15.2888		(1,574,746.40) Member	Sell
15:09:25	€ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	331	331,000	15.2883		5,060,427.30 Client	Buy
15:15:24	€ / R 18/12/2017	Foreign Exchange Future	0.00	1	1,000	3	3,000	15.5846		46,753.80 Member	Buy
15:16:07	€ / R 18/12/2017	Foreign Exchange Future	0.00	1	1,000	10	10,000	15.6005		(156,005.00) Client	Sell
15:20:38	€ / R 18/12/2017	Foreign Exchange Future	0.00	1	1,000	10	10,000	15.5958		155,958.00 Member	Buy
15:22:32	€ / R 18/12/2017	Foreign Exchange Future	0.00	1	1,000	5	5,000	15.6003		78,001.50 Member	Buy
15:22:32	€ / R 18/12/2017	Foreign Exchange Future	0.00	1	1,000	15	15,000	15.5973		(233,959.50) Member	Sell
16:19:24	€ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	143	143,000	15.3397		(2,193,577.10) Member	Sell
16:23:11	€ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	143	143,000	15.3397		2,193,577.10 Client	Buy
16:27:16	€ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	54	54,000	15.3328		827,971.20 Member	Buy
16:28:03	€ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	194	194,000	15.2168		2,952,059.20 Member	Buy
16:28:03	€ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	177	177,000	15.2168		(2,693,373.60) Client	Sell
16:28:03	€ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	177	177,000	15.2168		2,693,373.60 Member	Buy
16:28:03	€ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	194	194,000	15.2168		(2,952,059.20) Client	Sell
16:29:31	€ / R 19/03/2018	Foreign Exchange Future	0.00	1	1,000	165	165,000	15.8223		2,610,679.50 Member	Buy
16:29:31	€ / R 19/03/2018	Foreign Exchange Future	0.00	1	1,000	256	256,000	15.8223		4,050,508.80 Member	Buy
16:29:31	€ / R 19/03/2018	Foreign Exchange Future	0.00	1	1,000	256	256,000	15.8223		(4,050,508.80) Client	Sell
16:29:31	€ / R 19/03/2018	Foreign Exchange Future	0.00	1	1,000	165	165,000	15.8223		(2,610,679.50) Client	Sell

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
Total Futu	ires			28		3,233	3,233,000			50 015 297.20	
Total Opti	ons										
Total for €	/ R Foreign Exchang	e Future		28		3,233	3,233,000			50,015,297.20	
9:30:37	AU\$ / R 18/12/2017	Foreign Exchange Future	0.00	1	1,000	25	25,000	10.4656		(261,640.00) Member	Sell
9:30:37	AU\$ / R 18/12/2017	Foreign Exchange Future	0.00	1	1,000	25	25,000	10.4656		261,640.00 Client	Buy
10:00:13	AU\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	250	250,000	10.3364		(2,584,100.00) Member	Sell
10:00:13	AU\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	250	250,000	10.3364		2,584,100.00 Member	Buy
10:00:13	AU\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	200	200,000	10.3396		(2,067,920.00) Member	Sell
10:00:13	AU\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	200	200,000	10.3396		2,067,920.00 Member	Buy
Total Futu	ires			3		475	475,000			4 913 660.00	
Total Opti	ons										
Total for A	\U\$ / R Foreign Excha	inge Future		3		475	475,000			4,913,660.00	
Total Futu	tal Futures			205		96,540	96,737,500		1 3	05 345 320.10	
Total Opti	ons			13		6,147	6,147,000			0.00	
Grand To	otal for all Instrume	nts		218		102,687	102,884,500		2,7	64,385,745.00	